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ZOOLOGY

71.  The first National Park in India is .
(1) Jim Corbett National Park. (2) Kasu Brahmananda Rc_addyl l;l;t:lt:nal Park.
(3) Kaziranga National Park. (4) Keoladeo Ghana Nationa :
TESRH0S” Jn¢ses erAAH M), _
() 8D 57GyeT = dad Jth), (2) S @545050G EAah Iy,
(3) SBYorr =rdaH W), @) ABroddr S eda W),

72.  Epithelium of dry surface of skin of vertebrates is
(1) Stratified squamous non-keratinised epithelium
(2) Stratified cuboidal epithelium
(3) Stratified squamous keratinised epithelium
(4) Stratified columnar epithelium

SEHe 350D & &308008° GOl GIY
(1) J08 Yo S6eIS Gard 655¢  (2)  J08 HTS°E GIE

(3) 30 Yoy T3S S AIEY

73.  Epiphyses of long bones are made up of
(1) Spongy bone and contain yellow bone marrow
(2) Compact bone and contain red bone marrow
(3) Spongy bone and contain red bone marrow
(4) Compact bone and contain yellow bone marrow

s T3 I3’ IDPHD BIAS’ ABSHO.

(4) SO JogsE SIEE

(1) SoEs g HO S0P oy g (2)  HT°R DO DY o DY

(3) oSy HOAD DY Oy Dy (4) :;n::'f.g HOA Y @’.‘3 Sogg
74.  Percentage of agranulocytes among leucocytes is about
Ao arE'u08" Selst Kird Koo TS0

(1) ' 64.7% (2) 45% (3) 94% 4) 35.3%
75.  Which of the following is incorrect regarding contraction of cardiac muscle ?
(1) All the muscle fibres contract as a unit.

(2) Autorhythemic cardiac muscle fibres act as pacemaker and conducting system
(3) Action potentials are initiated by pacemaker. ‘

(4) Autonomic nervous system and some hormones establish the rhythm of heart beat.
SIMES0H Sotiore $0ETIE 5020900 5O T5s SO

(1) o) 5088 SodPo &3 (BSreson Ko DFon.

(2) SgODHO ©dDHFE THEAD 5ol SodhHen OASOEOT, ey :)555? S3Jron.

(3) odirSogfso (Sair #5700 etodHos.

(4) Sgapo SOS Td 5655, S TELL TSaH 590655 oD RIZRYS T
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Respiratory pigment found in molluscs is

(1) Haemoglobin (2) Haemocyanin
(3) Chlorocrurin (4) Haemoerythrin
300, BIHO T2 SFES

(1) Sarfds (2) 3rscedS  (3) oS @) TIrPIBBS

Identify the nematodes which have various shapes of amphids but without phasmides.
(1) Wucheraria and Ascaris (2) Trichinella and Greefilla
(3) Enterobius and Ancylostoma (4) Ascaris and Anc_ylostuma

D5 aores HI) BoNED SOA K 8 D' QoSG
(1) &S80asr SHOD B8P (2) (B8] W0a B
(3) Doe3E*DHAHD $H0aH 03E° e (4)  eMPO DO eo3S” P

Reptilian feature of Archaeopteryx :

(1) Feathers with barbules (2) Presence of abdominal ribs
(3) ‘U’ shaped Furcula (4) Presence of beak

3O ROEYE® D) HOFYS ©Feazsn

(1) Eobrsrod 5OAS Sstew (2) GE8 38T YHotoed
(3) ‘U’ &s5°89 9 50° (4) Sy SOA Yothés
The Vertebrae type in mammals 1s '

(1) Amphicoelous (2) Amphiplatyan

(3) Het_erocoeluus (4) Procoelous

$sored’ Ko 3% T (Hwseo) 55w
(1) &aHNQ (2) o30S (3) I8ng 4) HEKS

In Euglena, the following parts do not divide during binary fission :
(1) Contractile vacuole, Stigma, Paraflagellar body

(2) Stigma, Blepharoplast, Chromatophore

(3) Paraflagellar body, Stigma, Blepharoplast

(4) Blepharoplast, Kinetoplast, Paraflagellar body

oo Bor Z)C)Jﬁés 58 (200 grrren DS DOED.
(1) 508%s 03, S0e3 %) , ForrBed TS,

(2) Sotd oY), eseruseds , Eures’ .

(3) do>rscd a's:};'m, K0e3 %), srsseds

(4) GrUEess, 3L, FTRRTO 35050
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81.  Production of Vaccine against malaria is difficult because

(1) Malaria Vaccines are very expensive. .
(2) The technology of producing malaria vaccine is very: expensive.
(3) Plasmodium changes its antigens from time to time.

(4) Plasmodium changes its antibodies from time to time.

2800 efs oo SalrHBanto Trer o Soterds S8R0
(1) 2300sr s o OISO, |

(2) S80S S5 G Bd Igrso To PHIIB.

(3) 3;53‘3&&530 &85:5 99e335rOM SEET SRR Gotnod.

(4) FARHAADO &5 (A TiFOH SEIr SrHI; Gotwod.

82. During the prepatent period, plasmodium undergoes

(1) Complete exoerythrocytic schizogony

(2) Post - erythrocytic schizogony

(3) Endo erythrocytic schizogony
(4) Complete asexual multiplication.

558085 sr0oé’ G000 8820

(1) O Seo ey NEKS) TG DwEBEo
(2) &% Seods REND FrQ BoESeo
3) 85 PE M

(4) ©B0AE &IVFIND

83. In filariasis, the cells that accumulate in the affected tissues are
(1) Adipocytes (2) Osteoblasts (3) Chondroblasts (4) Fibroblasts

5 TRE TP BrdS K60 =ood’S IB Serew

(1) SYsSerew 2) epAdrgio () sofohow  (4) S eHeo

84. Pneumonia is caused by

(1)  Salmonella tvphi (2) Rhino virus

(3) Trichoderma sps (4)  Haemophilus influenzq

SPRTAALTD Senf Jasmo £

(1) >63g & 2) 8335

}) |SSamEde (4 T3Arded aSravons
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Which one of the following interferes with the transport of dopamine in the central
nervous system ?

() A white'crystalline alkaloid extracted from the leaves of Ervthroxvium coca
(2) A chemical extracted from the leaves of Cannabis sativa

(3) A crystalline compound obtained by acetylation of morphine -
(4) A chemical extracted from the dried latex of the unripe seed capsule ot poppy plant

&s (208 T¢38° Sosard I8 ESDS Srerd’ £750 TwED Sargo
(1) D0 EZ0D §% %0 Hod HEO0S 2.8 8@ 9IS esoyorand..
(2) 53900 38T 6%He Hod JEBDS 2.8 Hranso.

(3) 300 BEIOELE0 Sg 0B &8 H3STE S anSo.

(4) KRN0 0%, 63035 IES S Hod IGAS Send Jo 0 HEBoDD

.8 SraDso.
Storing cells found in cockroach are ‘
(1) Trophocytes, Oenocytes (2) Mycetocytes, Oenocytes
(3) Mycetocytes, Trophocytes (4) Oenocytes, Urate cells
QoY B0’ VoS Id Seren.
1 ¢ PELY, éa.SG’ﬂJ_éS_w (2) e eSew, 583 20850
(3) TS, 5P (4) BT eSen, A5ordeS Searen

The average trophic efficiency of transfer of energy from one trophic level to the highe
trophic level is called

(1) Assimilation efficiency (2) Exploitation efficiency
(3) Lindeman’s trophic efficiency rule (4) Gross Primary production

2.8 FUE Jow Hob &GS FNE Fowd IrByd eddy 0D FKDE FPom
DD0LTD ?

(1) ohsses Yo (2) WS P50

3) Oo&EHS MBE PP AOHVIN  (4)  Ipo (PEDE STHEES

The common hepato-pancreatic duct opens into the duodenum is guarged by a valve called
(1) Pyloric sphincter (2) Sphincter of odd:
(3) Intestinal sphincter (4) Hepato sphincter

DY DSBS TF0, SO Sor008’8 BLHHI FoTPR)y B580D &G HOSO Dt

(1) 2&°0E 50306l (2) ©& S505063
(3) e30(&s HOSOe3 (4) S°B8aH HoSde3
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The amount of energy released by the oxidation of 2 grams of proteins IS

(1) 40kcal (2) 6.0kcal (3) 8.0kcal (4) 12.0kcal
2 IeS0o Lﬁ‘egg e:éggém 50 desasocds ¥§

(1) 4.08 srodw (2) 6.08. scobew

(3) 8.0& sodw (4) 12.08. sc0bw

When 1500 ml air is in the lungs, it is called

(1) inspiratory reserve volume (2) tidal volume

(3) vital capacity | (4) residual volume
&8RS’ 1500 .9. T H)008 T IHoLF ?

(1) &T Jo0 HSI0S:rea0 (2) BES 33050

(3) I Fwgso - (4) ©5FY DHSI0Sre0
At high altitudes, RBC’s of human blood will

(1) Decrease in number (2) Increase in number

(3) Decrease insize (4) Increase in size

B (ST’ 555 850" PO B 8% Sea00

(1) Soxy SMHbod , (2) Doy HHIHS0H

(3) 383rea0 SHSOD (4) 3035790 DI OB.

The Cardiac pacemaker in a patient fails to function normally. The doctors find that an
artificial pacemaker is to be grafted in him. It is likely to be grafted at the site of

(1) Atrioventricular node (2) Purkinje fibres

(3) Atrioventricular bundle (4) Sinu-atrial node

2.8 &'A @), STYESaH ©asrE0giEsmn SO SAVALBIPD G5 & SRS 5B
OATBOLESND 9 (SBF0S DD ?
(1) 50s° 280s° Sead) (2) ;Saboes S0HIH

(3) 505 ;805 8y (4) T 585 Erd)

Which of the following matches correctly ?
(1) Factor Il — Hageman Factor

(2) Factor III = Prothrombin

(3) Factor VIII — Anti Haemophilic Factor
(4) Factor XII — Thromboplastin

& (300 Te3E’ SO e3¢
(1) 5850 I - aAS S°850
(2) =850 Il - ¥Erode
(3) S°5%0 VIII - e30¢3 S3rDO8 o580
(4) s°850 XII - @0 S
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In human the cardiac output is

() [1litre (2) 5 litres (3) 12 litres (4)
Sr5HAE’ S QOIrE wHeSies

() &8 b @) o dexy

(3) I3 590&,.; (4) Se55% deory
Which 1s correct in normal humans ?

(1) pH of urine is around 8.

(2)  20-30 mg of urea is extracted per day.

(3) Ketone bodies in urine indicate Diabetes mellitus.

(4) Glycosuria is treated with hemodialysis.

IO SrSP0s” & (800 TIE° DB SOGHIS ?

(1)
(2)
(3)
(4)

SarESS30 B, pH 8 (STHT)

et 50758 20-30 Q. ArOAL® DIYSSTH0d.
Samssné’ 465°5 Bie 498 EarBesd 1YEHH BenHHod.
OSaroatr © SArEarodbd oo D8 Sanisin).

Diuresis is the condition in which

(1
(2)
3)
4

The excretion of volume of urine increases.
The excretion of volume of urine decreases.
The kidneys fail to excrete urine.

The water balance of the body is disturbed.

EA0TOND @99 '{3@6‘

(1)

(2)
(3)
(4)

Largest Synovial Joint :

DRSPS 3Ag Sor (e HBSOIrESN DEHHEOD.
DIPSSADg S50 FHSHOS,EISD SIPSOB.
SarSHOGEE) S S50 INYoTIBY.

S508° De 505 DHHH0B.

(2) Kbnee Joint

E:ls; gl:g:ﬁ;:: Joint (4) Ankle Joint
0BV $ATIaHS do |

(1) &3 dew 2) FIrswiw
3) goes dew 4) Sedwos do
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98.  Optic chiasma is formed by the crossing of optic nerves on the A man sud e o
(1)  Floor of diencephalon behind infundibulum | 102 released at illfig.lﬂ;ee? 9 I_'°“~ his heart beat, blood pressure increases. Which hormone is
(2) Roof of diencephalon infront of infundibulum (1) Thyroxine e ;n his body ?.
(3) Roof of diencephalon behind infundibulum (2) Adrenalin (3) Parathormone (4) Corticoid
(4) Floor of diencephalon infront of infundibulum o &5 535 TTET 2. fao&‘:‘&h SrOSHED & H56° 35 9750 g TEaD 50, OF
Both Sy Tthen 50D Te3 podois E5eiosg AHAN iy HRssn PO Few ~ DESSD VBT,
1)  OrSRESn Do) erEHtiso, STOPoBs) I8 '
(1) sON g L Ew S (1) ‘_350'5.3'5 2) ©d>dS (3) 50‘36'35 4) s'gs'owﬁ

)  OESRTESH BNE) DSy, SCCTONEK) S0oh
(2) o°Bhg A 103.  Altered Self Cells (ASCs) possess

(3) avscjﬁ‘gzﬁn BnE), &Iy, STC°0VEH I | (1) Class | MHC that present antigen to CD; + cells
(2) Class | MHC that present antigen to CDx + cells

(4) a'sdﬁ‘gm G, BEEHESO, STOPOVEL S0 (3) Class Il MHC that present antigen to CDj + cells
| ‘ | ' (4)  Class [ MHC that present antigen to CD; + cells

99, Mixed cranial nerves in human beings : Sy 308 fa_gcﬁ) Seren

S5r5908° DFED S0

I L 2) L1V, VL, XI, XII (1)  (©$8e:35"0% MHC | & ©0§00 CD; + SeroH S58ydow,

3) V,VILIX, X (4 V,VLVILX | (2) S8uSsToH MHC | & 2080 CDy + $e30H SS58yow.
100. Alzheimer disease in humans is associated with the deficiency of ‘ (3) Va5 MHC 11 & 20809 CDs + Se7otH R’J;SJQ)@;Q;'J.

(1) Gamma amino butyric acid (2) Dopamine

(3) Glutamic acid (4) Acetyl choline (4) PBeSso% MHC II & 20809 CD; + S0 NoByhom.

;‘i;.v;j:.’poé' ea@:ﬁoS TR :)*55';&:&) &30 g SO, 104. Amniocentesis is a procedure to

(1) ™S oS wﬁéjag €3359550 2) 5‘533_‘5 (1) Determine any cardic disease

= ~ . (2) Know about diseases of brain
(3) Kreodd§ espsn 4) ©dES 5‘;5_5 (3) Detect genetic defects in the embryo
(4) To detect skin diseases.

101. Cornea transplant in human is almost never rejected, this is because @me.l@ 20805 955 eSS0

(1) Itis composed of enucleated cells.

(2) Itis a non-living layer. (1) BT FTHEaH F§Ehod HGosERS.

(3) lts cells are least penetrable by bacteria. :

(4) It has no blood supply. (2) DELHH SowoRow) TEOD BDDTDHLD.

SrSHE &agasuoaﬂw (5°0yar) m%d.‘\') FOUS® ﬁﬁﬁbﬁoéc‘.ﬁ). Se8eadn (3) Do&SD B0¥), ey SEDN BS0ZETOD 0N 0.

(1) IS So|58 B2eS Seaen0tby. 4) 85 3«5@0& KD,

(2) s ‘OQ:’ &0, | 105. Number of chemical base pairs of human DNA is about

@) o urol ogogt SRNGY - () 38bilion (2 22bilion () 32billion  (4) 8billion
S5 DNA 6° 3o 38 58 280 005 Jod ?

(4) O3 5% JE50° BEHL.
| (1) 3890cHy(2) 220800 () 3200098y (4) 8 DIHY
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106. Alpha Thalassemia is due to mutation in the following genes :
ST FO VDA &8 808 2380590 GOS0 S SeorOD.

(1) HBAI & HwBA2 (2) HBBI1 & HBA2
(3) HBBI & HBB2 (4) HBAI & HBB?2

107.  According to Haldane and Oparin, the first phase of the origin of life was
(1) Origin of universe

(2) Spontaneous generation of early molecules
(3) Atmosphere with reduction tendency

(4) Transformation of protobionts into early living orgamsms

S9GS, 2P0 SLes (35750, B0 HERESE® FEY &F eI ? '
(1) ¥ esQoyso.

(2) (FODE 9eHO AP yE e8T%S0.

(3) EaHE8em TS SOPS@ yEeso.

(4) (8¢5 AroLY, EWE BPeorr Erdrosto Boedo.

108. Dominant protein in human milk is

(1) Alpha - lactalbumin (2) Beta-lactalbumin
(3) Gamma - lactalbumin (4) Theta-lactalbumin
S o8’ S50 (63

(1) o - oS (2) D& - TTNWS

(3) ™S -TTeWD 4) Q& - oS
109. In an ECG normal duration of QRS complex of waves is

(1) 0.08 -0.1 sec (2) 0.08-0.2sec

(3) 0.08-0.7 sec (4) 0.08 -0.5 sec

ECG &’ QRS %085 5°0 5558

(1) 0.08-0.1 FUIStNY (2) 0.08-0.2 EVSRY

(3)  0.08-0.7 253 (4 0.08-0.5 &3

110. Which of the following animals exhibits bilateral symmetry in the larval sta
pentamerous radial symmetry in the adult stage ?

(l) Neopilina (2) Neomenia (3) Neophron (4) Neometra
& (SO0 20HYH0E’ ogss 5¥oS’ B ARSIV D¢ S¥0s® 501 2es

300D FFSE0 SSB0HI.
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